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(Punjabi Version)
i>c : (0 ~ ~-ii3cft ~ 2'e728 @" '3" f?w-(t~/iMcJ-~ ~ l:fTt ~ kF.rr-~/iMcJ-~

142/A flgd -eoN ~ I

(ii) §So-1BaT & ~ fuR" E O?> ~ ~ ~ w- fq f!!R" f?FJ 2't/28 Fffv3" 30 O?>
uo w3" cftcI C[!f?T(f tis I

(iii) §So-1BaT f?FJ w5t tWIO?> ~ ~ ~ ~ ctt3 ore- l{F.fOll.[F.fC5T er ~ "?idr
c;f&r tl'€dfl I

(iv) "l{F.fO-iBo f?FJ fJo -gror uo; srar-fJ: srar-"f w3" srar-l! I srar-fJ ~ ~
treT t.TgCft -3 w3" ~ srar-"f w3" srar-l! ~ ~ fEq sroT Q ~ ~
os I

(v) ~ l.[F.fC5T treT RWi; 81t/csi trt ~ tit <teT mw Ocff -j- I
(vi) i{a1awt ~ mot A'a'dd: dJd:CSG13d ~ tfr ~ -j- I

srar-"¬ tt
(vii) "l{F.fO t. 1 f?FJ fEcI-fEcI }){cf ~ 3 ~--gror os I €Agf6f.f6 l.[F.fC5T f?FJ; fEq -,;we; fEcI

wrcr ~ ~ €r5 l{F.fOl CfTBT crt ~/Rdt trt ~I ~ w!te" ~ l{F.fO cJ ~
CRit

"l{F.fO t 2 ~ 5 "3cr cZq ~ 2 }){cf ~ I mai3a l{F.fO er ~ 5-10 8rfecsi f?FJ
~ tfT<F tJ 'ille I -j- I

"l{F.fO t 6 f?FJ tJTO ~--gror uo I tJTO ~ <teT -&0 l{F.fO ~ I cZq l{F.fO tJTO -n1qt
er V?orr I fRai3a l{F.fO er ~ 15-20 8rfecsi f?FJ fe3r tfT<F tJlJlel -j- I
"l{F.fO t 7 ~ ~ ~ "l{F.fO V?orr I rev- l{F.fO 6 -n1qt er V?orr I

srar-l)f lH3" "E"

(viii) l{F.fO t. 8 f?FJ fEcI-fEcI }){cf ~ 3 ~--gror ~ I ~ -gror er ~ 1-15 mret
f?tr fSr ;::rrzr tJ IJje I "3' t

"l{F.fO t. 9 w3" 10 ~ 2 "1i{qt er c1?CJTT t mai3a "l{F.R') er ~ 5-10 a'mcs i WtJ
fSr tfT<F tJ IJje I -j- I

Maximum marks: 50Time allowed: 3 hours
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(punjabi, Hindi and English Versions)
(Evening Session)

Total No. of Questions : 12]

Roll No . 142/A
[Total No. of Printed Pages: 24



142/A-SS

~ ~ 'l71t lit!0 11",r ~

ToBalance bId 638 ByRent andTaxes 336
ToEntrance Fee 510 ByWages 490
ToSubscription 3,200 ByLighting Charges 144
ToDonation 330 By Lecturer's Fee 870
ToLife Membership Fee 500 ByBooks Purchased 426
ToMiscellaneous Income 28 By Office Expenses 900
ToProfit on Entertainments 84 By Fixed Deposit 1,600

(on 1.7.2018@3%p.a.)
ByCash atBank 484..
ByCash in hand 40

5,290 .. 5,290

(2)

1.[F.R'i t 11 f?tJ 3 ~-srfff ~ I fJ1i f?if cret -e- 1.[F.R'i c& I cZq 1.[F.R'i tfTCf >i(qt
pr V?orr I fRai3C( 1.[F.R'i pr ~ 15-20 81e1csi f?tJ fe3r ~ tJ1c.flel ~ I
1.[F.R'i t 12 f?tJ ~ 7ffc ~ I fro 1.[F.R'i 6 >i;qrt pr V?orr I fRai3C( 1.[F.R'i €T ~
~.:i:f3ift ~ 3-4 '4fcs>Ht f?tJ fe3r ~ tJ1cfiei ~ I

S'lOT-tt
1. (a) ~ m:ro ~ : 1

~ ~ l:fffiJ tfl3T ~ -e- i)flUTO ~ ~ cft3T ;:rteT ~ I
(b) olq;:rt 0T53" f8ii : 1

yoo ~ cr3' g "Bl3" -uroT ~ (fT3T m fcmT ;::rTtT ~ I
(c) ~ ~ tft ~ cm I 1

2. ~ oft ~ ~ ? 2
3. ~,~ ~ 8dt:fl3 Hige'd "Bl3" ~ (J'T(')'t '0 Sd'Sd rn- CJO I Higelcfl eH31~t'I ~,

8dtfl3 "§q WY '3" ~ "¬ TT~ ~ ~ ~ 10% ~ "¬ TTclOlelij ~ I cIDrno ~
ufbc5r, Wr WY 6,60,000 QUE" ~ I 8dtfi3 '0 ~ ;:rr¢ ~ ~ lJ3T cm ~ "Bl3" -eT ~
~~ I - 2

4. ~ ~ -e- -mg lltrt "J1T5t -e- wy "fro ~ ~ CJO : 2
~ wy

31 lfI(JtJ", 2014 43,000
31 l-fTOB", 2015 50,000
31 l-fTOB", 2016 52,000
31 ~ 2017 65,000
31 l-fTOB", 2018 85,000

~ "J1T5t -eT ctcflee IJI ~ ~ wy -e- 1)fTqtO 3" Wl:f "¬ TTljg lJ3T em I

5. yoo-~ ~ ~ ~ ~ Wtr ~ ~ lA30 f8ii I 2
6. "ijT(f l{Ji1Oi' ~ chft ~ l{J.IO ~ :

(i) ~ 31 ~, 2018 ~ 'cmffi;r ~ fecff tr t{'U3T ~ ~elfedfl (fT3T "fro ~
~~: 4
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~ -vo fuB' ~ ~ <JEl))ft :(a) _ =
€~eld : 25,000 ~. ~.: 70,000 ~. l.f8ic : 30,200 ~.

(b) h -e- crat.r Q ~ ~ -e- ~ 00' ~ -ao fe3r fa1))fT I

(c) fu<J ~ ~ fu' 8,000 guE' 't;!Tb ~ ~ MJ ~ ~ 'At I ~
8~e'(r 'IN b % ful:r lj5 3' '8' f5Jw I

(d) ~ % l)fl.R;'t 'U3O't ~ ~ ore aOtJ -e- ~ ~ W ~d6led '8' f8'>w I
(e) 10,000 guE 't;!T cR3t cft3T b fflg ~ I fu<J ffffi". ~ ~ -y:rtr3' (jfulw 'FIt I

fu'a"rH eic@I81))fT -J foTw ..,g ~ lW3t ~ 60% -y:rtr3' -ao ~ 'RO I

~ Cfi3T ~ I=

-
~~eltfl))ft ~ ~ ~

~ 8~eld 33,000 h' 9,000
))1FbhlFtJ3I "BEt Fdt.id~ 15,000 ~~eld 60,000
E'3 3' (J1O't l:fl3T 9,000 'RC"Cf 80,000
~ tft' U3o't -er crat.r 12,000 ~do1E1d 25,000
12%h crat.r 20,000 UC5tc 50,000
lltft qrg : trCJ Cfi3T :=

~ 80,000 aoo 20,000
~ 30,000
aoo 20,000 "

'ijl(? l:fI3' :=
~

,
15,000

~ 10,000
.

2,44,000 2,44,000

'Va f5B' ~ 8~l€ (](I) :

(a) l=f"IC? -e- ~ 3" ~ c}cg 4,000 guE tft citH3' ~ f6(319i ..,g 1,700 guE tft
citH3' -er ~ do1Eld ~ I

(b) l=f"IC? -e- ~ ~ ~ W 35 guE ..,g l=f"IC? -e- ~ ~ 45 guE ~ I

(c) ~ ~ -er ~ f6(d1fe))fT l=f"IC? -e- ~ ..,g l=f"IC? -e- ~ ~ 60 guE ~ I

(d) l=Jfuo t:rW 3" l=f"IC? ~ ~ lfU3" ?Xfr <Jfuw I

(e) ~ ~ ~ 8'gd13 })fT)-ftO ~ ~ I

})fT)-ftO l::fOEI'" Cfi3T f3l,.ro em I

(ii) "Rfuo ~ qrg ..,g ~fdC@d3(,)F.l18 ~ qrg ~ creT "BTO ~ 1m1 I 4
(iii) @fTdT ~ ..,g ~ ~ ~ creT "BTd" ~ 1m1 I 4
(iv) ~. ~ ~ aoo "813" ~ 9W9d ~ (](I) I ~ % E?d}f'1:'R' qo fe3T I

30 ¥ 2018 ~ ~ 'ffior -vo f5B' ~ ~ : 4

(3 )
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e<te 'cfl"fi" f ~ f
~ ~~t!'d 24,000 h~~ 37,000
R'Q'd<!: fdt.ldC@ 36,000 fufuq e<!:€'d 44,000
Qtft l::fT3" : ~ 1,20,000

~ 2,00,000 HF.ftoa9" 1,59,000
91H 1,50,000 ful.rcB 2,00,000
"630 1,50,000

5,60,000 5,60,000

tit
~, 91H 3" "630 "813" 3" "iroT "2 3: 3 : 2 ~ ~ <1E Rise'd <JO I 31 1-fTaB" 2019 "2
~ "¬ TT~ f60r "fro f8"S ~ ~ : 6

~ fl-r3T "t m~ ~ "t W Rise'd N W3 -e- 116 WH "ffift -vo ~ "F.J03t- ::: . =
truo ~ cfuT :
(i) ~ ~ WH -eT Qtft -"ffift 30,000 guE ~ I

(ii) ~ Wtf "ffift 10,000 guE ~ ~ I ~ oq}{ ~ 3" fJ::n-rao ~ q~C@'el

orEt I

(iii) ~ ~ E;d<Sled ~ 16% ~ 20% ~ t1'~dji I

(iv) e<te'di 3" 5% -eT ~C@Rtl' ~ orEt I

(v) ~ 3" fuHro3" "2 20% ore? ~ orEt I

(vi) ~ -e- fu"§tr fern" oqR'?) "ffift ~ cfuT fuTw 3" 1,200 guE -et. e<!:€'al ~

cJeT I

yoo-~ 1:fl3T, RiS€'di -e- Qtft l::fT3" ~ oW ~ ~ ~ 1Bor ~ I

-
e<!:€ ,(fi)){t ~ Hi13't))ft ~

~ g<!:€'d 40,000 ~ 30,000
~~ 6,000 e<!:€'d 47,000
1ltft l::fT3" : ~ 20,000=

~ 60,000 E;doled 4,000
fRHoo 40,000 ~ 3" fuHto3- 45,000

1,46,000 1,46,000

7. ~ ~ fJ::n-rao "f1lfl1 ~ W3 Q ~ <1E 3: 2 -e- ~ ~ RiS€'d RO I 31St 1-fTaB",

2019 -0 ~ ~ ~ fflor -vo fi:5B" ~ m : 6

(4)



~ 3" ~ 30,000 guE.l{B ~ -e- ful:rra- ~ -J I

11. §o 1{W>t W w -e- l[F.fO em :
(i) ~ ~ 3" 20,000 mET ~ ~ 10 guE 1f3T 1;'fF.r 3" 2 guE ~ ~

"ftm-i13cr fo1..ro ~ )}j e ife d fI tAd I *aT :
"ftm lBo 3" 3 guE
~ 3" 4 guE (~ l1A3")
~ qT8" 2 QUE"
"¬ ttft3" -n1i31-f qT8" 3 ouE"= -
35,000 ~ ~ ~ lBo 1fl-S "VE I 10,000 ~ ~ 1fl-S ~-U3ot tft w
~ ?>tit cft3T areT ~ "8IoIt It~q'di ~ ~ ~ ~ ~ cft3T
areT I ~ ~-i13cr d'F.Il ~ -e- ~ 3" ~ areT I

1421A-SS [Tum over

fc@C@d<t 31}f1'ffiJ. 20 18 ~ 31}f1'ffiJ, 20 19 ~
Fle'8(') 3"'" ~ 20,00,000 25,00,000 '.

~ ctl3T mfoTd9" tft C¥dB 5,00,000 6,50,000 "

<Jo 1:RN 50,000 60,000

2

Hi8€ldi 3" fEu ~ ct8r fq ~ fEq ~ 2019 3-'- ET3 ~ <:JTC'5t Q 4:3:2 ~
f \ ~ ~ ~~<td1 I 11ftn.8T fEu -mft fq :

(i) "J1CTq '¬ TT~ 1,10,000 guE l.fW;r- fup,.r- I

(ii) 1-flftoaT 10% to ~ We cft3T onft I

(iii) e<t€'di 3" itctt qaf,:p,.ft ~ 5% ~ fC@C@HEl'cft3T ~ I

(iv) fuwo3" 20% to ~ ~ onft I
(v) fufuu g<t€'di ~ 2,500 guE tft e<t€ia1 Cfffif ?>tit cft3T onft I

Hi8eldi 3" 1..fOd" ~ 1f5" "t ~ ~ fdqld~ qoo '¬ TTm=rw ct8r I ~ HQ'd(')- - - = .-
~"t~?>tit~ I= -
yoo ~ Cfl3l: 1}t1T rl ~ rom- -n1i31-f ffior ~ I

WOT-l)f ~ WOT-"E" W W fEq 9raT em I
sror--l)f

8. (a) C«3t.r-lBo l:fTOcf ~ : 1
(i) ~ -e- ~ (ii) g<teid
(iii) ~ (iv) fE<R;t w W ?>tit

(b) mlOT -e- N5 ~ ')}j~(j<ttAdl ~' -e- ~ ~ ~ ~ w -e- Het
~ I 1

(c) Bu" ~ ~ eft ~ -J ? 1
9. 3ael8tAdi crcJt.T-lBo 3"'" eft ~ -J ? 2

(5 )
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lltft 3" € (!:€ ,eft r,rt 31.03.2019 31.03.2018=
~ ~

~ l);:ft 4,75,000 4,00,000. =
~~ 60,000 -
(gT3" 3" uro't l:f13T 56,000 (30,000)
15%aa;;r-il3o 2,50,000 2,00,000
fufuq 8(!:€'d 1,10,000 50,000

tfcft ~ m ~~H€I' 14,000 10,000

~ m!T ~~H€I' 2,000 -
~;':t;r 9,67,000 6,30,000

.,__ ._

4

6

Btr ~ WOT3" ~ 25% ~ I

(iii) ~ ~ f~~d(t ~ <ret "B"O ~ fail I

12. foHo t11(!:qIJl ~ ~ ~ ~~d(t ~ em :

~~d(!: ~

~11tft 3,00,000

H'Qld6 rdt.id~ 1,00,000
qo;:r - 1,00,000
~ €(!:e'tilr,rt 60,000
h §~diidI6Z 20,000

~ 44,000

~~ 1,20,000

~ 36,000

arattt ~ l{'t13" ~ ~ 7,20,000
arattt ~ l{'t13" ~ ~ 80,000

4
1+1+1+1=4

~ ~ ~ ~ ~ tl'Ocf5 r~edlti -a-a I

(ii) "fro f@ ~ ~ ~ tft ~ -a-a :
(a) WCJ ~ (b)' qo;:r "R1-f3T ~

(c) ~~~~(d) Btr~~
m:

~ ~ 800 ~ })ffiTC ()E- 1ft ~ ~ ~ tft ~ ~ ~ »fR~ -J
oret I ~ ftm 2" 1,000 ~ })ffiTC ()E- 1ft ~ ~ tft ~ ~ ~ ~ -J
~1~-e-~HlEqacredlEl

(6)
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Cost of Asset ~ 2,50,000
Annual amount of depreciation f 40,000

10. foHn ~ ~ ~.~. ~ Mr "FKIt ~ -e-r ~ ~ ~ tIT -eo U3T ~ -e-r
~fua" I 2

1
1

2

(b) Design view Report -e-r eft ~ -j ?
(c) ~ Mr Ctrl+B -e-r ~ qF cft3r ;:rter -j ?

9. ~ Igi@ijd eft -j ?
=

sraT-"2"
8. (a) ~ Hadio -e- ~ Q .~ ciW ;:rter -j: . 1

('(1) -g furno Mr (~) l);:r furno Mr ("2") 'R3" furno Mr (l1) l)io ~ Mr

3+3=6
trt

~ f.glgd<t f.gF.iMF.i<t 't:!1" ~ ~ ~ fua" I

~ ril<talJi :

(a) wg -&ro ~ "W9iF.r 't:!1" ~ dl3 iO 36,000 gt.JE ciW fopw I

(b) fBq ~ 2018 Q 50,000 gt.JE -e- <10 qa;;r i130 ~ ctt3" ore I qa;;r-iBat ~ ~
fotin-I3" 30 ~ fe3r tJter -j I

(c) 20,000 gtlE" (gTffi3" ~ ~ ~ ("R'"63" 1lffi'TEt 8,000 gtlE") 17,000 guE- Mr
~I

(d) 10,000 gtlE" tIT (gTffi3" 't:!1" -alo-iji~ ~ 14,000 gtlE" 't:!1" ~ I

- ~ 31.03.2019 31.03.2018
~ ~

l1fuo ~ 5,00,000 2,00,000

Less: HB3" ~ 48,000 30,000

4,52,000 1,70,000

~-~~ 45,000 40,000
"RCTCf 1,50,000 1,00,000
fufuq e<teid 1,06,000 2,26,000

~ 84,000 24,000

~~ 30,000 50,000=
h-Mr~ 1,00,000 20,000

~~ 9,67,000 6,30,000

(7)



;:rt
~ (f3T ff:rRcH -e- -wg ~ ~ 1ml I 3+3=6

142/A-SS [See 9th page

Customerld Account No. Name Address City Balance f

901 99262 ShamLal Street No-2 Mohali 8,040

902 99269 SohanLal Akash Nagar Ludhiana 12,060

903 99563 Monika VijayNagar Abohar 20,080

904 99344 Raj Kumar BaghColony Fazilka 40,020

(iii) ~,$r. ~ -e- aEt "6ro -wg 1ml I 4

12. foHn ~ ~ ~,$r,~. retr "2crg CfTqT tf<:!T' ~ fecr§" : 6

2019 ~~a(!; ~

May 1 Ritu started business with cash 80,000
May 1 Purchased goods for cash 20,000
May 2 Sold goods for cash 20,000
May 3 Stationery purchased 2,000
May 4 Paid for repair of furniture 1,000
May 5 Refreshment Expenses 900
May 6 Paid for telegram 700
May 7 Taxi fare paid 600

2019 ~~a<:! ~

June 1 Started business with cash 2,00,000
June 1 Purchased furniture for cash 40,000
June 2 Purchased goods for cash 60,000
June 3 Stationery purchased 2,000
June 9 Purchased goods from Vinay on credit 10,000
June 15 Goods sold for cash 20,000
June 16 Goods sold on credit to Karan 10,000
June 30 Paid Salary 8,000'

~
( \

( 8 )
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3. ~, ~ ~ ~ ~ ~ qm~~ ~ ~I (i1~GI{) ~ c6 ~ ~ ~ ~ q'{

Cfilfi~Rcpr ~ ~Chl(if~ c6 ~ 10% Cfilfi~Rcpr ~ % I Cfilfi~ -a ~ ~ ~ 6,60,000 f % I ~ em
~ i1fR qffi Cfilfi~R~ llUAT elf{ ~ ~ cpr ~ ~ I 2

1

2

1

11. (a) ftcR:r ~ ~ :
~ ~ cx:rq ~ ~<SIiCh1 c6 i3W.1f{ lR ~ ~ \ijfffi % I

(b) itcp i3l~ 1fffif ~ :

~i(itliCh1 m ~~-m {i'i1~11J11 ~ .qr cnm \ijfffi % I

(c) • ~ ~ a:ms<rr elf{ I

2. GR CF1Tmcrr % ?

(Hindi Version)
rite: (i) I3f\Fft i3Uf-~ it !JWl ~ rrr Wr<!-CFiisArrr-CFiis qM?Slf.f if Wr<!-CFiisArrr-CFiis 142/A Jfq!ll[

fWff I
(ii) iJTI(-~ ~ dt ~ ~ fif.:rcTir ffl ff fcIi ~ ~ ~ 30 ~ ? ([Ci f1ift ifi1{ if ? I

(iii) iJfff-~ if ?Sfl?ft rM ~ ~~ it fl~rnq~ fc/jq ~ J{~"/J{~-;ffCfj{ 1j_('<J/Cfj'1'1"tf fcIiqr vrWrr I
(iv) J{~"-rpf if rfR 'J1TTf ~ 'J1T1f-fi, 'J1T1f-~ ffW 'J1T1f-lf' 'J1T1f-Cfi tf'Ift ~7ttNI t fWq ~ I ffW ~

'1f1F- ~ ~ 'J1T1f-lf if Wrfr t!'fi 'J1TTf W 9jf WIi& ~,
(v) dMlfllCfj J{~-;ffit ~ ~rail, <?Wif ~ CFft ctt ~ ifttrr '1"tf §",
(vi) itJll1it it frRr ffTFlW'T TfUTCfj" it ~ ctt ~ §",

'qJ1f-q;

(vii) J{~.,?t. 1 if qq;..C[Cfi .JicIi it 3 iJfl'JTT1T ~,qtgPlca J{~-;ffif C[Cfi ~Jaif, C[Cfi q{Cfl{ it ~ qM J{~"/?SfTfft~
rm/fftt ~ 1fWff~ ~CfjWJ2{ J{~" it WIi& ~ I

J{~" if. 2 "6 5 JTrW it 2 .JicIi m I fN9.1Pr!Cfj J{~" Cfj{ iJff( 5-10 rffiIfrif if ~ ii'fFfT ~,

J{~" if. 6 if 'ffff iJCT- 'J1TTf ~ , 'ffff if "6 ~ rftrr J{~" ~ , JTrW J{~" 'ffff oJiqff 'liT M' fMrPrtCfj JT~"
'liT iJff( 15-20 rffiIfrif if ~ ii'fFfT ~,

J{~"-?to 7 JTFfI'f(q; qq;r CfR7T JT~"M' "lfff J{~" 6 oJiqff 'liT M'
'qJ1f-~ ~ 11'

(viii) J{~" if. 8 if qq;..C[Cfi .JicIi it 3 iJCT-'J1TTf m,m 'J1TTf 'liT iJff( 1-15 ~ra;if if ~ ii'fFfT~'

J{~" if. 9 ffW 10 JTrW 2 oJiqff 'liT M' fj~rPrtCfj J{~" 'liT iJff(5-10 rffiIfrif ~ ~ ii'fFfT ~,

J{~" ?to 11 if 3 iJCT- 'J1TTf ifit, ffFr if "6 ~ ~ J{~" ~, JTrW J{~" 4 oJiqff 'liT Wrr' fj~rPrtCfj J{~"
'liT iJff( 15-20· rffiIfrif if ~ ii'fFfT ~,

J{~" if. 12 if JTFfI'f(q; fcrq;w ~ , "lfff 6 oJiqff 'liT M' fj~rPrtCfj JT~" 'liT iN(, iTrR'-~ it 3-4 'l1Iiff
if ~ ii'fFfT ~ I

(9)
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4

4

~ ~ ~"I141\111l3Wf~lFP ~ :

(a) qtf c6 ~ if ~.c6 qm 4,000M~R ~ ~ 1,700M~R rm ~~I

(b) q1f c6 ~ if ~ ~ 35 M ~ q1f c6 ~ if 45 M ~I

(c) B: lfflAf em ~ ~ q1f c6 ~ if ~ q1f c6 ~ if 60M~I

(d) mqfer iiJlIT 1:f{ q1f tftu;f ~ ~ ~ ~-3lT I

(e) ~~ ~ ~"{l\iR<f ~ f1Ar ~I

matlT~~~1

(ii) fW{ ~ mWU ~~fffi ~ m if ~ '¬ ffIT\3RR ~ I

~ f ~ f
ToBalanceb/d 638 ByRent andTaxes 336
ToEntrance Fee 510 ByWages 490
ToSubscription 3,200 ByLightingCharges 144
ToDonation 330 By Lecturer's Fee 870
ToLifeMembership Fee 500 ByBooks Purchased 426
ToMiscellaneous Income 28 ByOffice Expenses 900
ToProfit on Entertainments 84 ByFixed Deposit 1,600

(on 1.7.2018@3%p.a.)
"

ByCash atBank 484
ByCash inhand 40

5,290 5,290

( 10)

4. qq; tntt c6 ~ '1tt:r CfTirl c6 ~ ~ ~ ~ ~ : 2
qtt ~

31 ~, 2014 43,000
31 ~, 2015 50,000
31 ~, 2016 52,000
31 ~, 2017 65,000
31 ~, 2018 85,000

~ qtf~ €l{1&&ltl c6 ~ ~ c6 -m~ q"{ ~ c6 ~ ~ 7J1l'RT ~ I

5. ~i~iCfl1~ ~ ~ ~ if ~ ~ \3RR ~I 2

6. ~ ~~ if ~ ~ tft;r ~~'1" ~ :

(i) qtf31~2018ct~I~~Cf\'TGf~'cnr~~~~~~~~: 4
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.. f ~tq~lIi f
~~ 40,000 ~ 30,000

~~ 6,000 ~ 47,000

~~: ~ 20,000

~ 60,000 ~ 4,000

~ 40,000 ~Cf~ 45,000

1,46,000 1,46,000

(a) ~tq~lIi ~ ~ ~ ~ ~ :
~ : 25,000 m, ~ : 70,000 m, ~: 30,200 m,

(b) ~ ~ cpijf ~ s: ~ ~ GqTijf m ~ CJ)\ ~ ~I

(c) ~ m if ~ fq; 8,000m q;r qq; ~~ ~ if ~;fflt ~I ~ ~ if'~qq; ~ ~ ~
q-{ ~ RI<rr I

(d) ~ ~ ~ q-At am ~ cpijf ~ ~ f.fqcft ~ ~ if ~ ~ ~I

(e) 10,000 m ctt qc: ~ ~ qq; ~ ~ I~ ~ Ifctw~~ mta' si31T~ I fctw RcllRilllm~ *
i3wtT ~. ~ 60% mta' CJ)\ ~ ~ I

~~~I

7. "#Icr ~ fWR;:r qq; tfiit ~ ~ ~ ~ ~ 3: 2 c6 ~ ~ ~ ~ tfiit ~ ~ ~I i3YfcJjf 31 ~ 2019
~ ~ fqq{ur Pt"'1~~C1 ~ : 6

~ ~ ~J:q~lIi ~

~~~ 33,000 tcJ; 9,000
~~~~~ 15,000 ~ 60,000
~qm~ 9,000 ~ 80,000
~ c6t qRt q;r cpijf 12,000 ~ 25,000
12%~ cpijf 20,000 ~ 50,000
~~: ~~:

~ 80,000 ~ 20,000
\3lCffif{ 30,000
Cf){Uf 20,000

~~:

~ 15,000
\3lCffif{ 10,000 '

2,44,000 2,44,000

(iv) ~,\3lCffif{ \3ltr Cf){Uf ~ ~ ~ fi ~I ~ q;q ~ GR CJ)\ ~ I 30 ~ 2018 ~ ~ Icfcr\ur
f.l"'1R1~d ~ ~ : 4

( 11 )



{11~GI{f ~ f1'ufq ~ fcl; it ~ • 2019 -« ffi'q q'm ~ 4:3:2 ct ~ if ~, ~ 'ffi" ~
fcl;:

(i) ~ CfiT ~ 1,10,000 ~ qy<IT 1FIT I

(ii) lf~fAit 10% ttl ~ ~ q;lj' ttl ~ I

(iii) ~ ~ ~~ ~ ~ ~ 5% CfiT JlICftlR ~ ~ I

(iv) ~ 20% ttl ~ ~ ~ ~ I

(v) M~~ if 2,500 ~ ct ~ CfiT GTCfT ;fflf fcl;lrr 1FIT I

{11~GI{f ~ ~1(il!iCfl'1~ ~ ~ if ~ CfiT ~ ~ it ~ ~ ~ ~ ;fflf ~ I

~'11~iCfl'1~, ~ ~ ~ ti~imm~ ~ ~ I

~ ~ {1~~lIi ~

M~~ 24,000 ~if~ 37,000
~~ 36,000 M~~ 44,000
iiifi ~ : ~ 1,20,000

i31~TIcn 2,00,000 lf~fAit 1,59,000
'4F:r 1,50,000 ~ 2,00,000
~ 1,50,000 '.

5,60,000 5,60,000

(v) ~ q ~ Cfit 20% ~ lJiIT I

(vi) q)lf ~ ~ fcptfi ~ ~ ~ GlCfT fcl?<rr lJiIT ~ 1,200 ~ ttlm~ ~I

3'1~~iCfl'1~, {1lil~l{( ~ iiifi ~ ~ ~ q)lf CfiT ~ ~ ~ I

~

131m, '4F:r ~ ~ ffi'q q mf1 Cfit 3 : 3 : 2 if ~ ~ milm ~ I 11ffl 31, 2019 Cfit \RCflT ~ fo/Rur
f.:I'"1~Rslct ~ ~ : - 6

~ ~ Cfit q)lf if ~ Cfit ~ ~ ~ cfR 1:1"{ 1/6 fm ~ ~ Pty~f@C1 ~rcIT 1:1"{ ~fifcl?<rr :

(i) ~ ~ fm ttl iiifi ~ ~ 30,000 ~ ~ I

(ii) ~ ~ ~ ~ 10,000 ~ ~ ~ I 13lT~ \9)ll t;f)q ~ fBlrR am mR'lt ~ I

(iii) ~ ~ ~ ~~T: 16% ~ 20% "EICT<rr ~ I

(iv) ~ 1:1"{ 5% 'PT mq~ ~ lJiIT I

( 12 )
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(b) ~-"WffiT ~ .

(d) ~ Wll ~

1+1+1+1=4(ii) fT11'1R1~€1 1;J1'1C6I{l ~ ~ c5t llUAT q;{ :

(a) ~~
(c) ~lqlf{C6 ~I~~J~ -3lJCRt ~

4

11. $1~~-;{f if ~ ~ it) ~~.,q;{ :

(i) ~ ~ ~ 20,000 "WffiT \3T~ ~ 10m ~ \3T~T~ 2 m ~ 'R m$rr ~ ~ ~
i3TGTm~~~:

~'R 3m
~'R 4m (~~)
mT~ 2~
~q~~ 3~
35,000 \3T~if ct ~ ~ ~ ~ I 10,000 \3T~if ct ~ ~ ~ cpr ~ ~ ;fflf ~ 1J<rr ~
~ ~ c& 3l~IRlC6 ~ if ~ ~ 1J<rr1 ~ ~ ~ ~ ct m 'R ~ c5t 11t1

~~ F1m 800 \3T~T~ ~ ~ ~ ~ crerr ~ ~ ~ if ~ ~I 00 ftffi 1,000
\3T~T~ ~ ~ -ey.rr ~ c5t ~ ~ if ~ -m I ~ \3T~T iiRf C6\ ~ ~ I

~ ~ c5t ~ if ~ ~rq~~i~ I

fcfcRur 31 ~, 2018 ~ 31 ~, 2019 ~
~"R~ 20,00,000 25,00,000
~c5t~~c5t~ 5,00,000 6,50,000
i3Ff ~ 50,000 60,000

(b) ~ ~ ~ frmur if l~ fltqRt4f' ct ~~ mwr c5t iifR qffit ~ ey ~ ~ I 1

(c) ~ ~ WIW Cf<IT 00 ~ ? 1

9. qftcRR ~ ~-1l3T -« Cf<IT ~ ~ ? 2

(ii) ~

(iv) ~ ~ ~ '4t ;fflf I

18. (a) ~-1l3T ~ ~ :

(i) ~~~

(iii) m

( 13 )
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~ ~ GJf1«q 31.03.2019 31.03.2018
f f

-3l~ ~ 4,75,000 4,00,000

~~ 60,000 -
~ q ~ {5fIffi' 56,000 (30,000)
15%~-q;r 2,50,000 2,00,000
~~ 1,10,000 50,000.
~'iftc6~~ 14,000 10,000
~c6~~ 2,000 -

~ 9,67,000 6,30,000
t"q~lIi 31.03.2019 31.03.2018

~ ~

~ ttD4~lIi 5,00,000 2,00,000
Less : \1f1lT ~ 48,000 30,000

4,52,000 1,70,000.
itr-~~~ 45,000 40,000

4

6

~ ~ 'ffllRI' C5f 25% ~ I
(iii) ~ ~ fcmur c6t ~ m\ ~ ~ I

12. ~ 11!1'1?{)lti ~ ~ ~ fcmur ~ ~ :

fcrcRur ~

\){~ ~ 3,00,000
~~ 1,00,000
~ 1,00,000
0Q"I'q'J\ ~"'1&1f{1Ii 60,000
~ ~q<~I4'C . 20,000
mr:rr 44,000
auqlf{?{) ~ 1,20,000
5. 36,000
\3?m" ~. ~3if ~ ~ 7,20,000
"FJiG ~ ~3if ~ ~ 80,000

:'

( 14 )
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2019 ~ ~

June 1 Started business with cash 2,00,000
June 1 Purchased furniture for cash 40,000
June 2 Purchased goods for cash 60,000
June 3 Stationery purchased 2,000
June 9 Purchased goodsTiomVinay on credit 10,000
June 15 Goods sold for cash .20,000
June 16 Goods sold on credit to Karan 10,000
June 30 Paid Salary 8,000

4
11. (fA ~1Fr if ~ c5tt eft ~~";f ~ :

(i) ~ ~(SIIq:;lft ~ ~~ f¥f ~-~ ctt iiFfur ~fct~<1i ~ :

1
1
2
2

1
~....:ay

8. (a) ~ ~ c6 ~ c6)' i)Ri1lT ~ \ffi'ffi' ~ :

(C6) 5: crif if (~) ~ crif if (If) mq crif if (tr) 3110 crif if
(b) Design view Report q;r tFrr~~ ~ ?
(c) m~ if Ctrl+B q;r m~~ \ffi'ffi' ~ ?

9. ~~tFrr~?
10. f¥f ~ ~ tR.tffi.~ if ~ ~ q;rm~ ~ ctt G{ qm cpR q;r ~ ~ :

Cost of Asset ~ 2,50,000
Annual amount of depreciation ~ 40,000

3+3=6

~~:
(a) crt c6 ~ ~ ~~ q;r ~ 36,000 m~ ~I

(b) ~ \Wffif 2018 q;) 50,000 ~ c6 ~ ~-q;J ~ ~ ~ I~ ~ 1:1\ ~ ~ ~ 1:1\
~ \ffi'ffi' ~ I

(c) 20,000 m ~ ctt ~ ~ (~~ 8,000 m) 17,000 m if ~I

(d) 10,000 m ctt ~ q;r fR ~ ~~ 14,000 m if ~ I

~ 1,50,000 1,00,000
FctfcM" ~ 1,06,000 2,26,000

~ 84,000 24,000
~~~T 30,000 50,000
~if~ 1,00,000 20,000

~ 9,67,000 6,30,000

( 15 )



(English Version)
Note: (0 Youmust write the subject-codelpaper-code . 142/A in the box provided on the title

page of your answer-book.
(ii) Make sure that the answer-book contains 30 pages (including title page) and are

properly serialed as soon as you receive it.
(iii) Questionls attempted after leaving blank pagels in the answer-book would not be

evaluated.
(iv) There are 3 sections in the questionpaper i.e. Part-A, Part-B and Part-CoPart-A is

compulsoryfor all the students and students may choose only one Part from Part-B
and Part-C.

(v) There is no word, line or page limitfor numerical questions.
(vi) The use of non-programmable simple calculator is allowed.

Part-A
(vii) QuestionNo.1 consists of 3subparts carrying 1mark each. Objective type questions

may include questions with one word, one sentence answerljill in the blank/true or
false/multiple choice type questions.

J 42/A-SS [See 17th page

3+3=6
~

GFft-~ ~(§jICbI {l ~ ~ ~ ~ tftlmt ~ I

CustomerId Account No. Name Address City Balance f
901 99262 ShamLal Street No-2 Mohali 8,040

902 99269 SohanLal AkashNagar Ludhiana 12,060

903 99563 Monika VijayNagar Abohar 20,080

904 99344 Raj Kumar BaghColony Fazilka 40,020

-

12. f1l1l WRf ~ ~.t:rn. ~ ~ ~ ~ ~ ~ :

4

6

2019 Fcrcwr ~

May 1 Ritu started business with cash 80,000
May 1 Purchased goods for cash 20,000
May 2 Sold goods for cash 20,000
May 3 Stationery purchased 2,000
May 4 Paid for repair offumiture 1,000
May 5 Refreshment Expenses 900
May 6 Paid for telegram 700

May 7 Taxi fare paid 600

4

( 16 )
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[Turnover142/A~-SS

Youare required to calculate the value of Goodwill on the basis of two years purchase ofAverage
Profit.

4.

Income and Expenditure Account is prepared on . basis ofAccounting.
(b) Write true or false : 1

RevaluationAccount is also known as 'Profit and Loss Adjustment Account' .
(c) Explain the Realisation Expenses, 1
What is Donation? 2
Gunneet, Harmeet and Surjeet are partners sharing profit and loss equally. As per partnership
deed, Surjeet is entitled to a commission of 10% on Net Profit after charging such commission.
Net profit before charging commission is ~ 6,60,000.Find out Commission Payable to Surjeet.
Also show distribution of profit. 2
The profits of a finn for the last five years were as follows: 2

Year Profit'
31 March 2014 43,000
31 March 2015 50,000
31 March 2016 52,000
31 March 2017 65,000
31 March 2018 85,000

2.
3.

11. (a) Fill in the Blank :

be given in 5-10 lines.
Question No. 11 consists of 3 sub parts. Attempt any two questions out of three.
Each question will be 0[4 marks. Answer of theoretical question should be given in
15-20 lines.
Question No. 12 is with internal choice. This question will be of 6marks. Answer of
theoretical question should be given in 3-4 pages of answer-book.

Part-A

QuestionNo.2 to 5 will carry 2marks each. Answer of theoretical question should be
given in 5-10 lines.
Question No. 6 consists of 4 sub parts. Attempt any three questions out of four.
Each question willcarry 4 marks. Answer of theoretical question should be given in
15-20 lines.
Question No. 7 be having an internal choice. This question carries 6 marks.

Part-B and Part C
(viii) Question No. 8 consists of 3 sub parts carrying 1 mark each. Answer of each Part

should be given in 1-15words.
QuestionNo. 9 and 10 willcarry 2 marks each. Answer of theoretical question should

( 17 )
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Liabilities ~ Assets ~

SundryCreditors 33,000 Bank 9,000
Reserve for Contingency 15,000 Debtors 60,000
Profit and Loss Ale 9,000 Stock 80,000
Hardip's wife loan 12,000 Furniture 25,000
12%BankLoan 20,000 Plarit 50,000

The following adjustments are required:
(a) At the beginning of the year, the club possessed books worth ~ 4,000 and furniture

worth ~ 1,700.
(b) Subscription tn arrears at the beginning of the year ~ 35 and at end of the year ~ 45
(c) Sixmonth rent ~ 60 was due at the beginning of the year and at the end of the year.
(d) No Interest has been received on fixed deposits during the year.
(e) Entrance fee are to be treated as revenue income.

Prepare Income and ExpenditureAccount.
(ii) Writeany four differencebetweenFixed CapitalAccount andFluctuating CapitalAccount.

4
(iii) Write any four difference between Sacrifice Ratio and Gaining Ratio. 4
(iv) Hardip,AvtarandKaran Sharingprofits equally,they dissolved the finn. Following is their

Balance Sheet as at 30th June, 2018 : 4

Receipts ~ Payments ~

ToBalance bid 638 ByRent and Taxes 336
ToEntrance Fee 510 ByWages 490
ToSubscription 3,200 ByLighting Charges 144
ToDonation 330 By Lecturer's Fee 870
ToLife Membership Fee 500 ByBooks Purchased 426
ToMiscellaneous Income 28 By Office Expenses 900
ToProfit on Entertainments 84 ByFixed Deposit 1,600

(on 1.7.2018@ 3% p.a.)
- By Cash atBank 484

By Cash in hand 40
5,290 5,290

5. Write any two difference between Revaluation Account and Realisation Account. 2
6. Attempt any three questions out of four questions.

(i) Following is the Receipts and Payments Account of 'Kamlesh Club Delhi' for the year
31st December 2018 : 4

( 18 )
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Onthe above date Sanjeevwas admittedasNew Partner in the firm for 1I6thshare in the Profits
on the following terms:
(i) Sanjeevwill pay ~ 30,000 as his capital.
(ii) Sanjeevwill pay ~ 10,000for Goodwill.Half of the amount is to bewithdrawn byRanjiv

andSimran.
(iii) Stock and furniture be reduced by 16%and 20% respectively.
(iv) The provision for debtors is to be created 5%.

I

Liabilities ~ Assets ~

SundryCreditors 40,000 Cash 30~000
ReserveFund 6,000 Debtors 47~000
CapitalAccounts : Stock 20,000

Ranjiv 60,000 Furniture 4,000
Simran 40,000 LandandBuilding 45,000

1,46,000 1,46,000

7. Ranjiv and Simran were partners in a firm sharing profits in the ratio of 3:2. On 31st March.' ,

2019, their Balance Sheet was as follows: 6

~~ .. " - -~..' ..."Prepare Realisation Account.

(a) The Assets realised as follows:
Debtors : ~ 25,000, Stock: ~ 70,000, Plant: ~ 30,200

(b) Bank Loan was repaid alongwith interest of six months.
(c) It was found that an investment not recorded in the books is worth ~ 8,000. This is

taken over by one of the creditors at this value.
(d) Hardip agreed to accept furniture in full settlement of his wife's Loan.
(e) There is a bill for ~ 10,000 under discount. This bill was received from Vikas. Vikas

proved insolvent and 60% were received from his estate.

Capital Accounts: Current Account :
Hardip 80,000 Karan 20,000
Avtar 30,000
Karan 20,000

Current Accounts :
Hardip 15,000
Avtar 10,000

2,44,000 2,44,000

( 19 )
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(i) Customers of the Company (H) Creditors
(iii) Owners (iv) None of these

(b) Write any two itemspresented under the head' IntangibleAssets' in the Balance Sheet of
a company. .1

(c) What isNet Cash Flow? 1

18. (a) Debenture holders are :

Partners decided that with effect from 1stApril 2019,they would share profit and losses
in the ratio of 4:3:2. Itwas agreed that: .

(i) Stock be valued at ~ 1,10,000
(H) Machinery is to be depreciated by 10%
(Hi) A provision for doubtful debtors is to be made@ 5%
(iv) Building to be appreciated by 20%.
(v) A liability for ~ 2,500 included in sundry creditors is not likely to arise.

Partners agreed that the revised values are to be recorded in the Books. They do not,
howeverwant to distribute the General Reserve.
PrepareRevaluationAccount, CapitalAccounts and the Revised Balance Sheet.

Attempt anyone Part from Part-B and Part-C
Part-B

Liabilities ~ Assets ~

SundryCreditors 24,000 CashatBank 37,000
GeneralReserve 36,000 SundryDebtors 44,000
CapitalAccounts : Stock 1,20,000

Ashok 2,00,000 Machinery 1,59,000
Bhim 1,50,000 Building 2,00,000
Chetan 1,50,000

5,60,000 5,60,000

(vi) There being a claim against the firm for Damages, so a liability to the extent of~ 1,200
should be created.
PrepareRevaluationAccount, Partners CapitalAccount and Balance Sheet ofNew firm.

or
Ashok,BhimandChetanarePartners sharingprofit and lossesin the ratio of3:3 :2.TheirBalance
Sheet as at 31stMarch 2019 was as follows: 6

...,..(v) Land and Building be appreciated by 20%.

(20 )
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4
Gross profit 25% on cost.

(iii) Explain any four limitations of cash flow statement.

142/A-SS

Particulars ~

ShareCapital 3,00,000
General Reserve 1,00,000
Loan 1,00,000
TradePayables 60,000
BankOverdraft 20,000
Stock 44,000
TradeReceivables 1,20,000
Cash 36,000
Credit Revenue from operations 7;20,000
Cash Revenue from operations 80,000

Interest on investment @ ~ 30,000 each year.

11. Attempt any two questions out of the three questions:
(i) VinodLtd. invited applications for issuing 20,000equity shares of~ 10each at apremium

of~ 2 per share. The amount was payable as follows:
On application ~ 3
On allotment ~ ~ (Including Premium)
On first call ~ 2
On second and final call ~ 3
Applications for 35,000 shares received. Applications for 10,000 shares were rejected
and prorata allotment was made to the remaining applicants. Excess application money .
was utilized towards sum due on allotment. " .

• I

Shweta who had allotted 800 shares failed to pay allotment and call money.Deepak
who had allotted 1,000 shares failed to pay the two calls. Their shares were forfeited.
Pass necessary journal entries in the Books ofVinod Ltd. 4

(ii) Calculate the following ratios from the detail given below: 1+1+1+1=4
(a) Current Ratio (b) Debt Equity Ratio
(c) TradeReceivables Turnover ratio (d) Gross Profit Ratio

Particulars 31March 2018 ~ 31March 2019 ~
Revenue from operations 20,00,000 25,00,000
Cost of Materials Consumed 5,00,000 6,50,000
Other Expenses 50,000 60,000

10. Prepare comparative statement of profit and loss from the following Information: 2
29. What is meant by convertible debentures?

(21 )



142/A-8S

3+3=6

Additional Information :
(a) Interim dividend paid during the year ~ 36,000
(b) Additional Debentures issued ~ 50,000 on 1stAugust, 2018. Interest on Debentures has

been paid regularly.
(c) Fixed Asset Costing ~ 20,000 (Accumulated Depreciation ~ 8,000) were sold for

, ~ 17,000.
(d) Non current investments costing 10,000were sold for ~ 14,000.

or
Write significance and limitations of Financial StatementAnalysis.

Capital and liabilities 31.03.2019 31.03.2018
~ ~

ShareCapital 4,75,000 4,00,000
Securities Premium 60,000 -

Profit and LossAccount 56,000 (30,000)
15% Debentures 2,50,000 2,00,000
SundryCreditors 1,10,000 50,000
Provision for Doubtful Debts 14,000 10,000
Provision for Repairs 2,000 --

Total 9,67,000 6,30,000
Assets - 31.03.2019 31.03.2018

~ ~

FixedAssets 5,00,000 2,00,000
Less: Accumulated Depreciation 48,000 30,000

--- .. 4,52,000 1,70,000
Non-Current Investment ~ - 45,000 40,000
Stock 1,50,000 1,00,000
SundryDebtors 1,06,000 2,26,000
Cash 84,000 24,000

,~

Current Investments . , 30,000. 50,000
-......."" ..

. Cash inBank 1,00,000 20,000.
Total 9,67,000 6,30,000

612. From the following information prepare cash flow statement:

(22 )
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(~iii) Write any four advantages ofMS-Excel.
142/A-SS

...

~)19 Particulars ~
I--
May 1 Ritu started business with cash 80,000-
May l Purchased goods for cash 20,000-May 2 Sold goods for cash 20,000
r'
May 3 Stationery purchased 2,000
May 4 Paid for repair of furniture 1,000
MayS Refreshment Expenses 900
May 6 Paid for telegram 700

May 7 Taxi fare paid 600

(ii) Prepare Cash Account in Tally from the following transactions : 4

2019 Particulars ~

June 1 Started business with cash 2,00,000
June 1 Purchased furniture for cash

,
40,000

June 2 Purchased goods for cash 60,000
June 3 Stationery purchased 2,000
June' 9 Purchased goods from Vmay on credit 10,000.
June 15 Goods sold for cash 20,000_.
June 16 Goods sold on credit to Karan 10,000_,
JUD.'e30 Paid Salary 8,000_.

10. From the following information write the method to calculate rate of depreciation using
appropriate formula in M.S. Excel. 2

Cost of Asset ~ 2,50,000

Annual amount of depreciation ~ 40,000

11. Attempt any two questions out of three questions.
(i) Pass the Journal Entries of the following under computer accounting system: 4

(iv) Eight Sections
1
1

2

18.
Part-C

(a) Gateway of Tally screen is separated into:
(i) Six Sections (ii) Five Sections . (iii) Seven Sections

(b) What is purpose of Design view Report ?
(c) When Ctrl+B is used in spreadsheet?

9. What is contra voucher?

(23 )
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3+3=6
or

Write advantages and limitations ofReadymade Accounting System.

CustomerId Account No. Name Address City Balance f

901 99262 ShamLal Street No-2 Mohali 8,040

902 99269 SohanLal AkashNagar Ludhiana 12,060

903 99563 Monika VijayNagar Abohar 20,080

904 99344 Raj Kumar BaghColony Fazilka 40,020
-

612. Fromthe following information show a design table in M.S. Access:

(24 )
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